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o Please check that this question paper contains 8 printed pages.

¢ Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o Please check that this question paper contains 33 questions.

» Please write down the Serial Number of the question before
attempting it.

s 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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This question paper contains 33 questions out of which the candidate
needs to attempt only 25 questions.

Question paper is divided into two sections.

SECTION A

*  Multiple choice questions | Fill in the blanks/Direct questions :
contains  total 12 questions of 1 mark each. Answer
any 10 questions.

»  Very short answer type questions : contains total 7 questions of
2 marks each. Answer any 5 questions.

¢ | Short answer type questions : contains total 7 questions of 3 marks
each. Answer any 5 questions.

SECTION B

Long answer | Essay type questions : contains total 7 questions of 5 marks
each. Answer any 5 questions.
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Answer any ten questions from the given twelve.
1. Fofefes 8 @ - v vd gafoa 7@ 2 2 1
(%) uifafea gea - o2 gr=a
(@) = INEd @ — g frefar
(M) - iR FR-SerfEen wire — vt
(m)  wel ¥ firer 39 - fawee frm
Which one of the following is ro# correctly matched ?
(a)  Positive drive — Belt drive
(b)  High velocity ratio — Worm gearing
(¢)  Non-parallel and Non-intersecting shaft — Spiral gearing
(d)  Gear train in clock — Reverted gear train
2. Ty 3efadt o, witaiea gea w g 9 fgem viwe & 9 a@ saua &
fore sy fae = 3w s 1
(%) & e (@) gz =1
(m == =eE (=) firr =T
For constant velocity ratio, positive drive with large distance between
driver and driven shaft, one would use
(a)  Rope drive (b)  V-belt drive
(¢)  Chain drive (d)  Gear drive
3. e e g1ea ! 3T el 2 | 1

() uifwfes, = e
(@) =-uifafes, fem

(m) uifsfes, oo
(7). A, e
Chain drive is referred to as or drive.

(a)  Positive, No Slip

(b)  Non-Positive, Slip

(¢)  Positive, Slip

(d)  Non-Positive, Non-Slip
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A Cochran boiler is and fire tube type of boiler.

(a)  Horizontal and Multitubular
(b)  Vertical and Multitubular

(¢)  Vertical and Single Tubular
(d)  Horizontal and Single Tubular

T U TN Hieh” 1 B wigew 3 EIal 2 |
(%) R () Frpoy (@) o fagmo
(1) w9 (erufyee) @t P (&) a1 e

The function of “Blow-off Cock” in a Boiler is to from the Boiler.

(@) Cut off the pressure {b)  Control the temperature
(¢} Remove the sludge (d)  Remove the water

mmﬁwmwﬁamwa@mﬁwﬁtﬁm%
(%) arfYes

(@) ==

(M) =

(@) wfi e, et oy

The pressure produced by Water Tube Boiler in comparison to Fire Tube
Boiler is

(a) Higher

(b)  Lower

(c)  Same

(d)  Sometimes Higher, Sometimes Lower

1
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An Impulse Turbine

(a)  Is most suited for low head
(b)  Makes use of draft tube

{¢)  Isnot exposed to atmosphere

(d)  Operates with initial complete conversion of pressure head to

velocity head
AN, FIfE w5 Toeq ctangn i fafdre nfy f=fafea @ 9 E
4B E | o
() (@) s
(m) —wHH (=) ST w4
The specific speeds of Kaplan, Francis and Pelton Turbines are in
order.
(a)  Increasing (b)  Decreasing
(¢}  Same (dy  All of the above
el e, I™w = FOvm svm Fefafes 9 @ 3
1 I B ¢ |

(F) R Iicyn, FAEEA diegy

(@) Tocvet =1 T Fegy, FAEEE Jiogd

(m) foEve = Ha Sieqw, Ww aieqd

(w) olEs Jieqm, W2 diey

:I‘he Compression Ratio of an 1.C. Engine is the ratio of to

(a)  Swept volume, clearance volume
(b)  Total volume of cylinder, clearance volume
(e} Total volume of cylinder, swept volume

(d)  Clearance volume, swept volume
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(%) forzw
(@) &R quam
(M) R amEE
(") R 2@ vd for e
Which of the following cycles is associated with petrol engine ?
(a)  Constant Pressure
(b)  Constant Temperature
(c) Constant Volume
(d)  Constant Pressure and Constant Volume

11, v oS s § 78 2 1
(%) fHeiver (@) T stag
(1) wAfeem T (=) foes
A reciprocating compressor does nof consist of
(a)  Cylinder (b)  Gear box
(c) Connecting rod (d)  Piston
12. ﬁﬁmﬁﬁﬁmmwmaﬁﬁm%mwﬁvm%: 1
(%) (@) =%
(M) gerErw (7) s TeR
The type of tractor employed for excavating and moving the earth is
called
(a)  Crane (b)  Screw jack
(c)  Bulldozer (d)  Road roller
ﬁqwmﬁéﬁrﬁuﬁwﬁ%m?ﬁﬁm 2x5=10

Answer any five questions from the given seven.

13. @ﬁﬁ%@@ﬁw‘f%mnﬁqﬁwﬁﬁm%@mﬁﬁm@sﬁnﬁm)
IfFl % 919 FaTEv | 2

Name the different driving elements used for transmission of motion and
power from one shaft to another.

14. T g1 A TH HIE g Ao § 7 Far3a | 2
State the difference between Open Belt and Cross Belt drive.
106 6
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What are the Fire Tube Boilers 7

16. I H SiEe o ST S4BT | 2
Give the use of boilers in industries.

17, TeyH T@E3 § 379 997 GH3d @ 2 2
What do you mean by Reaction Turbine ?

18.  3ffafe ded 3W @ T g iR H @) of e Fany | 2

Give two differences between Internal Combustion Engine and External
Combustion Engine.

19. omE.d). sfm o o =Fiw %1 39E Farsy | 2
Give the use of Fly wheel in an [.C. Engine.

feu M A 7§ G et atw vl & I AT - 3x5=15

Answer any five questions from the given seven.

20. T = i gE § Ul 9 % oy fafag | 3
Write the merits of Belt drive over Rope drive.

21, NG W AT R TS & 2 3
What do you mean by Velocity Ratio ?

22, EiaeR RRN % FH fafEy | 3

Write the functions of Boiler Mountings.

23, EESITIH TETEH & JIIIM T | 3

Give the applications of Hydraulic Turbines.

24, HEYE T Y T GHY F ? 3
What do you mean by Compressor ?
25. 3fom ¥ ghawe forem =1 = fafew | 3

' Write the function of Ignition System of an Engine.

96. et Afg w1 I3 F U S &1 I B AHI 5 HHI H SH @A
MR 2 3

What factors should be taken into consideration while selecting a crane
for lifting a job ?
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SECTION B

Answer any five questions from the given seven.

27,

28.

29.

30.

31,

32.

33.
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What do you mean by Simple Gear Train ? Explain with sketch. Write
merits and demerits of gear drive over chain drive.

“Suenis 3 faemiem waer’ $ FrRifafy i wes Ry 6w 9 auE |
With the help of neat sketch, explain the working of “Babcock and Wilcox
Boiler”.

ZEg w1 A F9 fRn S R 2 wes fe A wEwa @ 9 we
TETEA ] HEATEY THARY |

How are turbines classified ? With the help of neat sketch explain the
working of “de Laval” Turbine.

oo a3 $ TEEd ¥ Ueed @A 6 T U8 SR a1y & gueEy |
With the help of neat sketch explain construction and working of Pelton
Turbine.

g 3 1 et 3§ oT Sase | e fom Y mEmar ® g 3
=1 wrdfafy T |

Give the difference between petrol engine and diesel engine. With the
help of neat sketch, explain the working of two-stroke engine.

firyer YfawrRfen wor Y g @ wEEi w = Ty i wgma |

HEAREY |
With the help of neat sketch, explain the construction and working of
simple reciprocating compressor.

wes o3 1 ggma 8 2afer 1= sha ) T vE SR SHEE |

With the help of neat sketch, explain construction and working of
travelling gantry crane.
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